
Q1) a) Find the static and kinematic indeterminacy of following structures. [6]
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b) Analyze the beam shown in figure 2 by strain energy method. Take EI
constant. [9]

OR
Q2) a) Differentiate between determinate and indeterminate structure. [2]

b) Analyze the beam shown in figure 3 by strain energy method. Take EI
constant. [13]

Q3) a) Find forces in all members of truss shown in figure 4 by using unit load
method. Assume the cross sectional area same for all members. [13]

b) State the assumption in cantilever method for analysis of frames. [2]
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OR
Q4) Analyze the frame as shown in Figure 5 by portal method. [15]
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